# A REMARK ON MINIMAL FOLIATIONS OF CODIMENSION TWO 

Fabiano Brito*

(Received June 4, 1983)
0. Introduction. A foliation $\mathscr{F}$ of a closed Riemannian manifold $W$ is minimal if the leaves are minimal submanifolds of $W$. A foliation is taut if there is a metric on $W$ for which the foliation is minimal.

Sullivan [S], Rummler [R] and Haefliger [H] found geometrical and topological characterizations of these foliations. A codimension one oriented foliation is taut if and only if every compact leaf is cut out by a closed transversal (Sullivan). For general codimension there is a necessary and sufficient condition for $\mathscr{F}$ to be taut that depends only on the holonomy pseudo group of the foliation (Haefliger). If the leaves of $\mathscr{F}$ are all compact then $\mathscr{F}$ is taut if and only if $\mathscr{F}$ is stable (Rummler).

Recently, Oshikiri [0], proved that for $\mathscr{F}$ of codimension one and $W$ with non-negative Ricci curvature tensor, $\mathscr{F}$ minimal implies that $\mathscr{F}$ and $\mathscr{F}^{\perp}$ are totally geodesic, where $\mathscr{F}^{\perp}$ denotes the normal flow to $\mathscr{F}$. In particular, $\mathscr{F}$ is defined by a closed form.

In this paper we generalize this theorem for the case of codimension two. Precisely, we prove the following:

Theorem. Let $W^{n+2}$ be an oriented closed ( $n+2$ )-dimensional Riemannian manifold and $\mathscr{F}_{1}$ a minimal, codimension two $C^{\infty}$ foliation of $W$. Suppose the normal distribution of $\mathscr{F}_{1}$, say $\mathscr{F}_{2}$, is $C^{\infty}$ and integrable and that both $\mathscr{F}_{1}$ and $\mathscr{F}_{2}$ are orientable.
(1) If $\operatorname{Ricc}(W)>0$ then $\varepsilon\left(\mathscr{F}_{2}\right) \neq 0$.
(2) If Ricc $(W) \geqq 0$ then either $\mathscr{F}_{1}$ is totally geodesic or $\varepsilon\left(\mathscr{F}_{2}\right) \neq 0$. (Both can occur simultaneously.)
(3) If $W$ has non-negative sectional curvature then either $\varepsilon\left(\mathscr{F}_{2}\right) \neq 0$ or $\mathscr{F}_{1}$ and $\mathscr{F}_{2}$ are totally geodesic. (Both can occur simultaneously.) Here $\varepsilon\left(\mathscr{F}_{2}\right)$ denotes the Euler class of $\mathscr{F}_{2}$ and Ricc $(W)$ is the Ricci curvature tensor of $W$.

Remarks.
(a) For the case of non-negative sectional curvature the theorem

[^0]is a complete generalization of Oshikiri's result for codimension two. (Notice that the Euler class of a one dimensional orientable foliation is always zero.)
(b) For the case of positive Ricci curvature the theorem provides a topological obstruction to the integrability of the normal bundle of a minimal foliation. Let us illustrate that with one example.

Let $S^{3} \subset R^{4}$ be the standard unit 3 -sphere of constant curvature. Set $W=S^{3} \times S^{3}$ with the Riemannian product metric. It is easy to see that Ricc $(W)>0$. There are orientable codimension two foliations on $W$ such that the normal bundle is also an orientable foliation. The product of two Reeb foliations of $S^{3}$ is such an example. This foliation is not minimal.

There are also minimal foliations of codimension two on $W$. For instance, consider the fibration $\pi=H \circ \pi_{1}: S^{3} \times S^{3} \rightarrow S^{2}$, where: $\pi_{1}: S^{3} \times$ $S^{3} \rightarrow S^{3}, \pi_{1}(x, y)=x ; H: S^{3} \rightarrow S^{2}$ is the Hopf fibration. The fibration $\pi: S^{3} \times S^{3} \rightarrow S^{2}$ defines a totally geodesic (hence minimal) foliation $\mathscr{F}$ of $W$ where each leaf is a totally geodesic $S^{3} \times S^{1} \subset S^{3} \times S^{3}$. The normal bundle of this foliation, say $\mathscr{F}^{\perp}$, is not integrable because $\varepsilon\left(\mathscr{F}^{\perp}\right) \in$ $H^{2}(W, \boldsymbol{R})=0$.

We wish to express our gratitude to Professor A. Conde, L. Jorge and M. Djaczer for many helpful suggestions and observations they made during the preparation of this paper. We are especially grateful to Professor C. E. Harle for calling our attention to this problem.

1. Notations. Let $x \in W^{n+2}$ and $U \subset W^{n+2}$ an open neighborhood of $x$. Let $\left\{e_{1}, \cdots, e_{n+2}\right\}$ be a local orthonormal frame defined on $U$. The coframe, connection and curvature forms are given by

$$
\begin{gathered}
\Theta_{I}\left(e_{J}\right)=\delta_{I J} \quad \delta_{I J}=0 \quad \text { if } \quad I \neq J \quad \delta_{I I}=1 \\
\omega_{I J}(u)=\left\langle\nabla_{u}\left(e_{I}\right), e_{J}\right\rangle, \quad \Omega_{I J}=d \omega_{I J}-\sum_{K=1}^{n+2} \omega_{I K} \wedge \omega_{K J}
\end{gathered}
$$

where $1 \leqq I, J \leqq n+2$ and $\nabla,\langle$,$\rangle , denote respectively the Riemannian$ connection and the scalar product of $M$.

The Cartan structure equations are:

$$
d \Theta_{I}=\sum_{K=1}^{n+2} \omega_{I K} \wedge \Theta_{K}, \quad d \omega_{I J}=\sum_{K=1}^{n+2} \omega_{I K} \wedge \omega_{K J}+\Omega_{I J}
$$

This is the notation used for instance in [Ch].
2. Some computational lemmas. Let $W^{n+2}$ be an oriented closed Riemannian manifold and $\mathscr{F}_{1}$ a foliation of codimension 2 satisfying the
following conditions:
(a) $\mathscr{F}_{1}$ is orientable, transversely orientable and has $C^{\infty}$ differentiability class.
(b) The normal distribution $\mathscr{F}_{2}=\mathscr{F}_{1}^{\perp}$ is integrable and $C^{\infty}$.
(c) For $i=1,2$, the tangent spaces $\mathscr{F}_{i}(x)$ at the point $x$ of the leaf $\mathscr{F}_{i}$ passing through $x$ satisfy $\mathscr{F}_{1}(x) \oplus \mathscr{F}_{2}(x)=T_{x} W$ and $u \in \mathscr{F}_{1}(x)$, $v \in \mathscr{F}_{2}(x) \Rightarrow\langle u, v\rangle=0$.

Throughout this paragraph we shall denote by $\mathscr{F}_{i}$ both the foliation and the distributions tangent to them.

As a consequence of (a), $\mathscr{F}_{2}$ is also orientable and transversely orientable.

Definition 2.1. A local orthonormal frame $\left\{e_{1}, e_{2}, \cdots, e_{n+2}\right\}$ is said to be adapted if the following conditions (i) and (ii) are satisfied:
(i) $e_{1}(x), \cdots, e_{n}(x) \in \mathscr{F}_{1}(x), e_{n+1}(x), e_{n+2}(x) \in \mathscr{F}_{2}(x)$ for all $x$.
(ii) $\left\{e_{1}, e_{2}, \cdots, e_{n+2}\right\},\left\{e_{1}, \cdots, e_{n}\right\}$ and $\left\{e_{n+1}, e_{n+2}\right\}$ are compatible with the orientation of $W, \mathscr{F}_{1}$ and $\mathscr{F}_{2}$ respectively.

Let $\left\{e_{1}, e_{2}, \cdots, e_{n+2}\right\}$ be an adapted local orthonormal frame defined on an open set $U \subset W$. Let $\psi$ be the following $(n+1)$-differential form defined on $U$ :

$$
\begin{aligned}
\psi= & \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \Theta_{\sigma(2)} \wedge \cdots \wedge \Theta_{\sigma(n-2)} \wedge \Theta_{\sigma(n-1)} \\
& \wedge \omega_{\sigma(n) \tau(n+1)} \wedge \Theta_{\tau(n+2)}
\end{aligned}
$$

where $S_{n}$ is the group of permutations of the set $\{1,2, \cdots, n\}$ and $S_{2}^{\perp}$ is the group of permutations of the set $\{n+1, n+2\}$. $\operatorname{sgn}(\sigma)$, $\operatorname{sgn}(\tau)$ stand for the signs of the permutations $\sigma$ and $\tau$.

Let $\bar{E}=\left\{\bar{e}_{1}, \bar{e}_{2}, \cdots, \bar{e}_{n+2}\right\}$ be another adapted local orthonormal frame defined on a neighborhood $\bar{U} \subset W$ and $\bar{\Theta}_{i}, \bar{\omega}_{i j}$ be the respective coframe and connection forms associated to $\bar{E}$. Let

$$
\bar{\psi}=\sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \bar{\Theta}_{\sigma(1)} \wedge \bar{\Theta}_{\sigma(2)} \wedge \cdots \wedge \bar{\Theta}_{\sigma(n-1)} \wedge \bar{\omega}_{\sigma(n) \tau(n+1)} \wedge \bar{\Theta}_{\tau(n+2)}
$$

The following lemma shows that $\psi$ is a global form.
Lemma 2.2.

$$
\left.\dot{\psi}\right|_{U_{\cap \bar{U}}}=\left.\bar{\psi}\right|_{U \cap \bar{U}} .
$$

Proof. Set $e_{i}=\sum_{j=1}^{n} a_{i j} e_{j}(1 \leqq i \leqq n)$ and $\bar{e}_{\alpha}=\sum_{\beta=n+1}^{n+2} a_{\alpha \beta} e_{\beta}(n+1 \leqq$ $\alpha \leqq n+2$ ). Then we have $\bar{\theta}_{i}=\sum_{j=1}^{n} a_{i j} \theta_{j}, \quad \bar{\theta}_{\alpha}=\sum_{\beta=n+1}^{n+2} a_{\alpha \beta} \theta_{\beta}, \quad \bar{\omega}_{i \alpha}=$ $\sum_{j=1}^{n} \sum_{\beta=n+1}^{n+2} a_{i j} a_{\alpha \beta} \omega_{j \beta}$, for $1 \leqq i \leqq n, n+1 \leqq \alpha \leqq n+2$. Thus

$$
\left.\bar{\psi}\right|_{U \cap \bar{U}}=\sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau)\left(\sum_{j_{1}=1}^{n} a_{\sigma(1) j_{1}} \Theta_{j_{1}}\right) \wedge\left(\sum_{j_{2}=1}^{n} a_{\sigma(2) j_{2}} \Theta_{j_{2}}\right) \wedge \cdots \wedge
$$

$$
\begin{aligned}
& \wedge\left(\sum_{j_{n-1}=1}^{n} a_{\sigma(n-1) j_{n-1}} \Theta_{j_{n-1}}\right) \wedge\left(\sum_{j_{n}=1}^{n} \sum_{\beta_{1}=n+1}^{n+2} a_{\sigma(n) j_{n}} a_{\tau(n+1) \beta_{1}} \omega_{j_{n} \beta_{1}}\right) \\
& \left.\wedge\left(\sum_{\beta_{2}=n+1}^{n+2} a_{\tau(n+2) \beta_{2}} \Theta_{\beta_{2}}\right)\right|_{U n \bar{U}} \\
= & \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{1}} \sum_{j_{1}, j_{2}, \cdots, j_{n}=1}^{n} \sum_{\beta_{1}, \beta_{2}=n+1}^{n+2} \cdot \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) a_{\sigma(1) j_{1}} \cdot a_{\sigma(2) j_{2}} \cdot \cdots \\
& \cdot a_{\sigma(n) j_{n}} \cdot a_{\tau(n+1) \beta_{1}} \cdot a_{\tau(n+2) \beta_{2}} \\
& \left.\cdot \Theta_{j_{1}} \wedge \Theta_{j_{2}} \wedge \cdots \wedge \Theta_{j_{n-1}} \wedge \omega_{j_{n} \beta_{1}} \wedge \Theta_{\beta_{2}}\right|_{U \cap \bar{U}} .
\end{aligned}
$$

The fact that $\Theta_{I} \wedge \Theta_{I}=0$ and the symmetry of $S_{n}$ gives us immediately:

$$
\begin{aligned}
\left.\psi\right|_{U \cap \bar{U}}= & \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{1}} \sum_{\eta \in S_{n}} \sum_{\mu \in S_{2}^{1}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) a_{\sigma(1) \eta(1)} \cdot a_{\sigma(2) \eta(2)} \cdots \\
& \cdot a_{\sigma(n) \eta(n)} \cdot a_{\tau(n+1) \mu(n+1)} \cdot a_{\tau(n+2) \mu_{(n+2)}} \\
& \left.\cdot \Theta_{\eta(1)} \wedge \cdots \wedge \Theta_{\eta(n-1)} \wedge \omega_{\eta(n) \mu_{(n+1)}} \wedge \Theta_{\mu_{(n+2)}}\right|_{U \cap \bar{U}} .
\end{aligned}
$$

But $\bar{E}$ is an adapted frame. Then $\operatorname{det}\left(a_{i j}\right)=1(1 \leqq i, j \leqq u)$, $\operatorname{det}\left(a_{\alpha \beta}\right)=1$ $(n+1 \leqq \alpha, \beta \leqq n+2)$ and $\sum_{\sigma \in S_{n}} \operatorname{sgn}(\sigma) a_{\sigma(1) \eta(1)} \cdots a_{\sigma(n) \eta(n)}=\operatorname{sgn}(\eta) \cdot \operatorname{det}\left(a_{i j}\right)=$ $\operatorname{sgn}(\eta)$.

## Similarly

$$
\sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\tau) a_{\tau(n+1) \mu_{(n+1)}} \cdot a_{\tau(n+2) \mu_{(n+2)}}=\operatorname{sgn}(\mu)
$$

Thus

$$
\begin{aligned}
\bar{\psi}_{U \cap \cap \bar{U}} & =\sum_{\eta \in S_{n}} \sum_{\mu \in S_{2}^{\perp}} \operatorname{sgn}(\eta) \operatorname{sgn}(\mu) \Theta_{\eta(1)} \wedge \cdots \wedge \Theta_{\eta_{(n-1)}} \wedge \omega_{\eta(n) \mu_{(n+1)}} \wedge \Theta_{\mu_{(n+2)}} \\
& =\left.\psi\right|_{U \cap \bar{U}} .
\end{aligned}
$$

From now until the end of this paragraph let us suppose that $n \geqq 2$. Using the same notations as before we define the forms $\phi_{1}$ and $\phi_{2}$ and $\Omega$ in $\Lambda^{n+2}(W, \boldsymbol{R})$ by

$$
\begin{aligned}
\phi_{1}= & \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau)\left(\sum_{\beta=n+1}^{n+2} \omega_{\sigma(1) \beta} \wedge \omega_{\beta \sigma(2)}\right) \\
& \wedge \Theta_{\sigma(3)} \wedge \cdots \wedge \Theta_{\sigma(n)} \wedge \Theta_{\tau(n+1))} \wedge \Theta_{\tau(n+2)}, \\
\phi_{2}= & \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \theta_{\sigma(1)} \wedge \cdots \wedge \theta_{\sigma(n)} \wedge\left(\sum_{k=1}^{n} \omega_{\tau(n+1) k} \wedge \omega_{k \tau(n+2)}\right), \\
\Omega= & \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \cdots \wedge \Theta_{\sigma(n-1)} \wedge \Omega_{\sigma(n) \tau(n+1)} \wedge \Theta_{\tau(n+2)},
\end{aligned}
$$

for $n \geqq 2$.
Remark. $\dot{\phi}_{1}$, and $\dot{\phi}_{2}$ and $\Omega$ are global forms in the sense that they
do not depend on the choice of the particular adapted local frame. The proof of that fact is a straightforward computation similar to that of Lemma 2.2.

Lemma 2.3. If $n \geqq 2$, then

$$
d \psi=(-1)^{n}\left[((n-1) / 2) \phi_{1}+(1 / n) \phi_{2}\right]+(-1)^{n+1} \Omega .
$$

Proof. Let

$$
\begin{equation*}
d \psi=A+B+C, \tag{1}
\end{equation*}
$$

where

$$
\begin{aligned}
A= & \sum_{\sigma \in S_{n}} \sum_{\tau \in s_{2}^{1}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \sum_{j=1}^{n-1}(-1)^{j+1} \theta_{\sigma(1)} \wedge \cdots \wedge \theta_{\sigma(j-1)} \wedge d \Theta_{\sigma(j)} \wedge \Theta_{\sigma(j+1)} \wedge \cdots \\
& \wedge \Theta_{\sigma(n-1)} \wedge \omega_{\sigma(n) \tau(n+1)} \wedge \Theta_{\tau(n+2)}, \\
B= & (-1)^{n+1} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{1}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \cdots \wedge \Theta_{\sigma(n-1)} \wedge d \omega_{\sigma(n)(n+1)} \wedge \Theta_{\tau(n+2)}, \\
C= & (-1)^{n+2} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{1}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \cdots \wedge \Theta_{\sigma(n-1)} \wedge \omega_{\sigma(n) \tau(n+1)} \wedge d \Theta_{\tau(n+2)} .
\end{aligned}
$$

Permuting 1 and $j$ on $A, 1 \neq j$, we get:

$$
\begin{aligned}
A= & \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{1}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \sum_{j=1}^{n-1}(-1)^{j+1} \cdot(-1)^{j+1} d \theta_{\sigma(1)} \wedge \theta_{\sigma(2)} \wedge \cdots \\
& \wedge \Theta_{\sigma(n-1)} \wedge \omega_{o(n) \tau(n+1)} \wedge \Theta_{\tau(n+2)} .
\end{aligned}
$$

But $d \Theta_{\sigma(1)}=\sum_{K=1}^{n+2} \omega_{o(1))_{K}} \wedge \Theta_{K}$. Thus

$$
\begin{equation*}
A=A_{1}+A_{2} \tag{2}
\end{equation*}
$$

where

$$
\begin{align*}
A_{1}= & (n-1) \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \omega_{\sigma(1) \sigma(n)} \wedge \Theta_{\sigma(n)} \wedge \theta_{\sigma(2)} \wedge \theta_{\sigma(3)} \wedge \cdots \\
& \wedge \Theta_{\sigma(n-1)} \wedge \omega_{\sigma(n) \tau(n+1)} \wedge \Theta_{\tau(n+2)}, \quad \text { and } \\
A_{2}= & (n-1) \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \omega_{\sigma(1) \tau(n+1)} \wedge \Theta_{\tau(n+1)} \wedge \Theta_{\sigma(2)}  \tag{3}\\
& \wedge \Theta_{\sigma(3)} \wedge \cdots \wedge \Theta_{\sigma(n-1)} \wedge \omega_{\sigma(n) \tau(n+1)} \wedge \Theta_{\tau(n+2)} .
\end{align*}
$$

Using the symmetry with respect to the group $S_{n}$ and the laws of commutativity of the wedge product, we get

$$
\begin{aligned}
A_{2}= & (n-1)(-1)^{n+1} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{1}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \omega_{\sigma(1) \tau(n+1)} \wedge \omega_{\sigma(2) \tau(n+1)} \\
& \wedge \Theta_{\sigma(3)} \wedge \cdots \wedge \Theta_{\sigma(n)} \wedge \Theta_{\tau(n+1)} \wedge \Theta_{\tau(n+2)} .
\end{aligned}
$$

Or, equivalently:

$$
\begin{equation*}
A_{2}=(n-1)(-1)^{n} \cdot(1 / 2) \phi_{1} \tag{4}
\end{equation*}
$$

Then, using (2) and (4) we get

$$
\begin{equation*}
A=A_{1}+(n-1)(-1)^{n} \cdot(1 / 2) \dot{\phi}_{1} \tag{5}
\end{equation*}
$$

On the other hand

$$
\begin{equation*}
B=B_{1}+B_{2} \tag{6}
\end{equation*}
$$

where

$$
\begin{equation*}
B_{1}=(-1)^{n+1} \Omega \tag{7}
\end{equation*}
$$

and
(8) $\quad B_{2}=(-1)^{n+1} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \Theta_{\sigma(2)} \wedge \cdots \wedge \Theta_{\sigma(n-1)}$

$$
\wedge\left(\sum_{K=1}^{n+2} \omega_{\sigma(n) K} \wedge \omega_{K \tau(n+1)}\right) \wedge \Theta_{\tau(n+2)}
$$

From (8) we obtain:

$$
\begin{equation*}
B_{2}=B_{21}+B_{22} \tag{9}
\end{equation*}
$$

and

$$
\begin{align*}
B_{21}= & (-1)^{n+1} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \Theta_{\sigma(2)} \wedge \cdots \wedge \Theta_{\sigma(n-1)}  \tag{10}\\
& \wedge\left(\sum_{j=1}^{n-1} \omega_{\sigma(n) \sigma(j)} \wedge \omega_{\sigma(j) \tau(n+1)}\right) \wedge \Theta_{\tau(n+2)}, \\
B_{22}= & (-1)^{n+1} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \Theta_{\sigma(2)} \wedge \cdots \wedge \Theta_{\sigma(n-1)} \\
& \wedge \omega_{\sigma(n) \tau(n+2)} \wedge \omega_{\tau(n+2) \tau(n+1)} \wedge \Theta_{\tau(n+2)}
\end{align*}
$$

Using again the symmetry of $S_{n}$ and the laws of commutativity of the wedge product " $\wedge$ ", the equality (10) becomes:

$$
\begin{align*}
B_{21}= & (-1)^{n+1}(n-1) \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \Theta_{\sigma(2)} \wedge \cdots  \tag{12}\\
& \wedge \Theta_{\sigma(n-1)} \wedge \omega_{\sigma(n) \sigma(1)} \wedge \omega_{\sigma(1) \tau(n+1)} \wedge \Theta_{\tau(n+2)}
\end{align*}
$$

For $C$, we have

$$
\begin{equation*}
C=C_{1}+C_{2} \tag{13}
\end{equation*}
$$

i.e. where

$$
\begin{align*}
C_{1}= & (-1)^{n+2} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\tau(1)} \wedge \Theta_{\sigma(2)} \wedge \cdots \wedge \Theta_{\sigma(n-1)}  \tag{14}\\
& \wedge \omega_{\sigma(n) \tau(n+1)} \wedge \omega_{\tau(n+2) \sigma(n)} \wedge \Theta_{\sigma(n)}
\end{align*}
$$

and

$$
\begin{align*}
C_{2}= & (-1)^{n+2} \sum_{\sigma \in S_{n}} \sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\sigma) \operatorname{sgn}(\tau) \Theta_{\sigma(1)} \wedge \cdots \wedge \Theta_{\sigma(n-1)} \wedge \omega_{\sigma(n) \tau(n+1)}  \tag{15}\\
& \wedge \omega_{\tau(n+2) \tau(n+1)} \wedge \Theta_{\tau(n+1)} .
\end{align*}
$$

It is easy to see, from (14) that

$$
\begin{equation*}
C_{1}=(-1)^{n+2} \cdot(1 / n) \phi_{2} . \tag{16}
\end{equation*}
$$

From (3), (12), (11) and (15), we get

$$
\begin{align*}
& A_{1}=-B_{21}  \tag{17}\\
& B_{22}=-C_{2} \tag{18}
\end{align*}
$$

Using (1), (5), (6), (7), (9), (13), (16), we finally obtain from (17) and (18):

$$
d \psi=(-1)^{n}\left[((n-1) / 2) \phi_{1}+(1 / n) \phi_{2}\right]+(-1)^{n+1} \Omega .
$$

Let $M_{x}$ be the leaf of $\mathscr{F}_{1}$ passing through a point $x \in W . M_{x}$ is an immersed manifold on $W$ and its metric is that induced by the metric of $W$. Let $\left\{e_{1}, e_{2}, \cdots, e_{n}, e_{n+1}, e_{n+2}\right\}$ be an adapted frame defined in a neighbourhood of $x \in W$. Define $A_{x}=\left(h_{i j}^{\alpha}(x)\right) 1 \leqq i, j \leqq n, n+1 \leqq \alpha \leqq$ $n+2$ by $h_{i j}^{\alpha}=\left\langle\nabla_{e_{i}} e_{\alpha}, e_{j}\right\rangle=-\omega_{j \alpha}\left(e_{i}\right)$. With these notations it is easy to see that

$$
\phi_{1}=-(2!)^{2}(n-2)!\sum_{1=i<j}^{n} \sum_{\alpha=n+1}^{n+2}\left(h_{i i}^{\alpha} h_{j j}^{\alpha}-h_{j i}^{\alpha} h_{i j}^{\alpha}\right) \nu
$$

where $\nu$ is the volume element of $W$. Or, equivalently:

$$
\phi_{1}=(2!)(n-2)!\sum_{\alpha=n+1}^{n+2}\left[\operatorname{tr} A_{\alpha}^{2}-\left(\operatorname{tr} A_{\alpha}\right)^{2}\right] \nu
$$

where

$$
\begin{array}{cc}
A_{\alpha}=\left(h_{i j}^{\alpha}\right), & A_{\alpha}^{2}=A_{\alpha} \circ A_{\alpha}, \\
\operatorname{tr} A_{\alpha}=\sum_{i=1}^{n} h_{i i}^{\alpha}, & \operatorname{tr} A_{\alpha}^{2}=\sum_{i, k=1}^{n} h_{i k}^{\alpha} h_{k i}^{\alpha} .
\end{array}
$$

Because $A_{\alpha}$ is symmetric, we have

$$
\operatorname{tr} A_{\alpha}^{2}=\sum_{i, j=1}^{n}\left(h_{i j}^{\alpha}\right)^{2} .
$$

If $\mathscr{F}_{1}$ is a minimal foliation, then

$$
\begin{align*}
& \sum_{i=1}^{n} h_{i i}^{\alpha}=\operatorname{tr} A_{\alpha}=0 \quad n+1 \leqq \alpha \leqq n+2, \quad \text { and }  \tag{19}\\
& \phi_{1}=(2!)(n-2)!S \nu
\end{align*}
$$

where $S=\sum_{i, j=1}^{n} \sum_{\alpha=n+1}^{n+2}\left(h_{i j}^{\alpha}\right)^{2}$ is the square of the length of the second fundamental form of $M_{x}$.

Denote by $\varepsilon\left(\mathscr{F}_{2}\right)$ the Euler class of the tangent bundle to $\mathscr{F}_{2}$. Using the notations as before, we can write (see [M]).

$$
\varepsilon\left(\mathscr{F}_{2}\right)=-(1 / 2!) \sum_{\tau \in S_{2}^{\frac{1}{2}}} \operatorname{sgn}(\tau)\left[\left(\sum_{k=1}^{n} \omega_{\tau(n+1) k} \wedge \omega_{k \tau(n+2)}\right)+\Omega_{\tau(n+1) \tau(n+2)}\right] .
$$

On the other hand,

$$
\phi_{2}=n!\sum_{\tau \in S_{2}^{\perp}} \operatorname{sgn}(\tau) \nu_{1} \wedge\left(\sum_{k=1}^{n} \omega_{\tau(n+1) k} \wedge \omega_{k \tau(n+2)}\right)
$$

where $\nu_{1}=\Theta_{1} \wedge \cdots \wedge \Theta_{n}$ is the volume element of $\mathscr{F}_{1}$. Then

$$
\phi_{2}=-2 n!\varepsilon\left(\mathscr{F}_{2}\right) \wedge \nu_{1}-n!\sum_{\tau \in S_{2}^{\frac{1}{2}}} \operatorname{sgn}(\tau) \Omega_{\tau(n+1) \tau(n+2)} \wedge \nu_{1} .
$$

Let $c_{n+1, n+2}$ denote the sectional curvature of $W$ in the direction of the plane determined by $e_{n+1}$ and $e_{n+2}$. According to our notations, we have

$$
\Omega_{n+1, n+2}\left(e_{n+1}, e_{n+2}\right)=-c_{n+1, n+2} .
$$

Thus

$$
\begin{equation*}
\phi_{2}=-2 n!\varepsilon\left(\mathscr{F}_{2}\right) \wedge \nu_{1}+2!n!c_{n+1, n+2} \nu . \tag{20}
\end{equation*}
$$

$c_{i \alpha}$ is the sectional curvature in the direction of the plane determined by $e_{i}$ and $e_{\alpha}, 1 \leqq i \leqq n, n+1 \leqq \alpha \leqq n+2$ and

$$
\begin{equation*}
\Omega=-(n-1)!\sum_{i, \alpha} c_{i \alpha} \nu \tag{21}
\end{equation*}
$$

The following Lemma is an easy consequence of (19), (20) and (21), Lemma 2.3 and the Stokes theorem.

Lemma 2.4. If $\mathscr{F}_{2}$ is a minimal foliation, then

$$
\int_{W} S_{\nu}-2 \varepsilon\left(\mathscr{F}_{2}\right) \wedge \nu_{1}+\sum_{\alpha=n+1}^{n+2} \operatorname{Ricc}\left(e_{\alpha}\right) \nu=0,
$$

where Ricc $\left(e_{\alpha}\right)=\sum_{K=1, K \neq \alpha}^{n+2} c_{K \alpha}$ is the Ricci curvature of $W$ in the direction of $e_{\alpha}$.

Remark. Lemma 2.4 remains true even if the normal distribution to $\mathscr{F}_{1}$, say $\mathscr{F}_{2}$, is not integrable. Observe as well that $\sum_{\alpha=n+1}^{n+2} \operatorname{Ricc}\left(e_{\alpha}\right)$ does not depend on the choice of the particular adapted frame.
3. Proof of the theorem. Suppose $n \geqq 2$. Let us observe first that the minimality of $\mathscr{F}_{1}$ and the integrability of its normal bundle imply $d \nu_{1}=0$ (see $[R]$ ). Then $\nu_{1}$ is a cycle and $\nu_{1} \in H^{n}(W, \boldsymbol{R})$, where $H^{n}(W, \boldsymbol{R})$ is the $n$-th de Rham cohomology group of $W$.

The Euler class $\varepsilon\left(\mathscr{F}_{2}\right)$ is also a cycle and $\varepsilon\left(\mathscr{F}_{2}\right) \in H^{2}(W, \boldsymbol{R})$.

We first prove (i). When $\operatorname{Ricc}(W)>0$, suppose that $\varepsilon\left(\mathscr{F}_{2}\right)=0$ as an element of $H^{2}(W, \boldsymbol{R})$, i.e., $\varepsilon\left(\mathscr{F}_{2}\right)$ is an exact form. Consider the cup product $\wedge$ in the cohomology ring $H^{*}(W, \boldsymbol{R})$

$$
\wedge: H^{2}(W, \boldsymbol{R}) \times H^{n}(W, \boldsymbol{R}) \rightarrow H^{n+2}(W, \boldsymbol{R})
$$

Since $\varepsilon\left(\mathscr{F}_{2}\right)=0$, we have $\varepsilon(\mathscr{F}) \wedge \nu_{1}=0 \in H^{n+2}(W, \boldsymbol{R})$. Now, by the de Rham theorem

$$
\int_{W} \varepsilon(\mathscr{F}) \wedge \nu_{1}=0, \quad \text { which contradicts Lemma } 2.4
$$

This completes the proof of part (1) of the theorem.
Suppose now Rice $(W) \geqq 0$ and $\varepsilon\left(\mathscr{F}_{2}\right)=0$. Then

$$
\int_{W} \varepsilon\left(\mathscr{F}_{2}\right) \wedge \nu_{1}=0=\int_{W}\left(S+\sum_{\alpha=n+1}^{n+2} \operatorname{Ricc}\left(e_{\alpha}\right)\right) \nu,
$$

by Lemma 2.4. Thus $S \equiv 0$ and $\operatorname{Ricc}\left(e_{\alpha}\right) \equiv 0 e_{\alpha} \perp \mathscr{F}_{1}$.
If $S \equiv 0$ then $\mathscr{F}_{1}$ is totally geodesic and this completes the proof of part (2) of the theorem.

Suppose now $\varepsilon\left(\mathscr{F}_{2}\right)=0$ and $W$ has non-negative sectional curvature in the direction of every 2 -plane and at every point of $W$. Then, in particular $\operatorname{Ricc}(W) \geqq 0$ and, by part (2) we see that $\mathscr{F}_{1}$ is totally geodesic.

Moreover, the following proposition is a part of a theorem proved by Abe [ $A b$ ].

Proposition. Let $\mathscr{F}_{1}$ and $\mathscr{F}_{2}$ be two orthogonal foliations of complementary dimensions over a complete Riemannian manifold $W$ with non-negative sectional curvatures. Suppose $\mathscr{F}_{1}$ is totally geodesic. Then $\mathscr{F}_{2}$ is totally geodesic.

This completes the proof of part (3) of the theorem for the case $n \geqq 2$.

Let us now suppose that $n=1 . \mathscr{F}_{1}$ is now a minimal one dimensional foliation. In other words, $\mathscr{F}_{1}$ is totally geodesic.

Let $\left\{e_{1}, e_{2}, e_{3}\right\}$ be an adapted local frame and set

$$
\psi=\omega_{21} \wedge \Theta_{3}+\Theta_{2} \wedge \omega_{31}
$$

It is easy to see that $\psi$ is globally defined (see $[A],[B L R]$ ). Exterior differentiation of $\psi$ and the Stokes theorem give

$$
2 \int_{W} \varepsilon\left(\mathscr{F}_{2}\right) \wedge \Theta_{1}=\int_{W}\left(\operatorname{Ricc}\left(e_{2}\right)+\operatorname{Ricc}\left(e_{3}\right)\right) \nu
$$

If $\mathscr{F}_{1}$ is totally geodesic and $\mathscr{F}_{2}=\mathscr{F}_{1}^{\perp}$ is a foliation then $d \Theta_{1}=0$.

The same argument used for the case $n \geqq 2$ shows that if Ricc $(W)>0$ then $\varepsilon\left(\mathscr{F}_{2}\right) \neq 0$.

This concludes part (1).
Part (2) is a consequence of the fact that $\mathscr{F}_{1}$ is totally geodesic. We can prove Part (3) by repeating the argument used in the case $n \geqq 2$.

## References

[A] D. Asimov, Average Gaussian curvature of leaves of foliations, Bull. Amer. Math. Soc. 84 (1978), 131-134.
[Ab] K. Abe, Applications of a Ricatti type differential equation to Riemannian manifolds with totally geodesic distributions, Tôhoku Math. J. 24 (1973), 425-444.
[ $B L R$ ] F. Brito, R. Langevin and H. Rosenberg, Intégrales de courbure sur des variétés feuilletées, J. Differential Geometry 16 (1981), 19-50.
[Ch] S. S. Chern, On the curvature integral in a Riemannian manifold, Ann. of Math. 46 (1945), 269-284.
[ $H$ ] A. Haefiger, Some remarks on foliations with minimal leaves, J. Diffrential Geometry 15 (1980), 269-284.
[M] J. W. Milnor and J. Stasheff, Lectures on characteristic classes, Annals of Math. Studies, Princeton University Press, 1974.
[O] G. Oshikiri, A remark on minimal foliations, Tôhoku Math. J. 33 (1981), 133-137.
[ $R$ ] H. Rummler, Quelques notions simples en géométrie riemannienne et leurs applications aux feuilletages compacts, Comment. Math. Helvetici, 54 (1979), 224-239.
[S] D. Sullivan, A homological characterization of foliations consisting of minimal surfaces, Comment. Math. Helvetici 54 (1979), 218-223.
Instituto de Mathemática e Estatistica
Da Universidade de Sào Paulo-Brazil


[^0]:    * Supported in part by FAPESP-BRAZIL.

